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Usec la transtormada de Laplace para resolver
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& i+ (@i -0 < 2

iujil{:l :; ,(0) = 0, x5(0) = —1. Este es el sistema (1) con k, = 6, m, d;z _ k:(-xz - 1'1)-
éoﬂ(’ (Le TAAL o codo gc del T

_YALLGEO
——~ —~ “pe ;/7 O RS> — H Kals) =6
oy €\

SIX\CE’)"S ,,COS
RS <« \ O 5(£,=CF§§ — < o) =>




C._(_:zf:'(b) j5(3> —X S(LC..E;\ =
-~ SL((_‘SS -E'Cgbt"%\ﬂul.éx = —(

—

(A 4a trres O —a e

- ‘ %Z'—(—\ " _ quﬁtlb%sﬂl_e%}ﬂ \C_
@U - Ly, = %%—rvﬂ% ’E?:f— Lf,,D'—(é'

— < —é—\‘-ﬁ%"rz.“f

[

E C&%'L}Qaé&i]vff

- e e v S
“S S'E‘L‘f C 6%——"(*‘" =
SO ) K
= - - —~( b <
/X'Xfy,ﬁ,é _y < g é
——-%

['\




"

b L%:B ...E.._\(:... %&»-C‘(&b\ v

e




